
1) It £ AEF =/ £ EFD we can assume EFD is smaller

2) But £ AEF + £ FEB = 2k

3) So £ EFD + FEB is less than two right aisles .

4) By postulates, AB and CD intersect
, a contradiction

.

-

I-31 To done a straight 1in. thrash a point and parallel

to a giver line
.

1) drop a perp (1-12)

Y 2) drew a perp
Ime CI-11)

3) pullet ! (by I -27



I -32 : the sum of inferior angles of a is 2 night angles

5¥✗ + ✗
'
= 24

Btp
' = 26

p
'

Jts ' = 2k

✗ +Pt8= 24

☒
'
1-B'+81--46



I-32

✗ t k < 26

green
intersects by PS

green is not parallel .
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Playfair 's Axiom
.

Pl - PS : ⇒ PF PI - PIL + PF ⇒



patched

If we assume PÉ Pt + PF ⇒ Ps

Pt - Pt + PS = PF

pl-④p5⇐p
PI - PIL + PF ⇒ P5

✗ +B < 2k

1) +""fer ✗ to "ed ↳•"m

I-2?

✗ + p < 24
4 ⇒ red is a new line

.

3) Red is parallel (-1-28)



4) PF⇒ blue is not parallel

5) ✗ ' tfo
'
> 2k

so intersection is

an other side

-

Other equivalents :

a) Two parallel lines are equidistant ( IOOBC , Posidonius)
b) If a line intersects one of two parallel lines

it intersects the other
. ( Proclus

,
too AD )

c) Given a b one can construct
a similar triangle

of
any size .

( Wallis 1600 's)

d) The sum of interior asks of a S is 26

Legendre 17005
.



Pl - Pt ☒
-

Complex Numbers

We add to
. IR mother number or i' = -1

Complex numbers at its a.BER

ta
z=a+ib We identify 03 with {a+oo:aeR}
Retz)= a

z= ✗ + iy×Im (7) = b 1+00

• - i



( ×, tiy ,) + (xztiye) = (4+42)+514, +ye)

(× ,
+ c- 4) • ( t + c- ye) = (4×2-4,42) + i (44×1-4241)
-

Exercise : Z
,
1- Zz = Zztz , (211-72)+-23 = z , +2-(1-23)
2-
( Zz = ZZZ , (zizzzg = Z

, (2-22-3)
2- ( (2-2+2-3) = 7

, Zzt 2-12-3

kz= kxtiky tf KEIR


